Gruppen-Spielplan

Bezirksrangliste 2016

des Bezirks West

Klasse: Schiiler A Gruppe: 1
Pos [Spieler Verein| 1 2 3 4 5 6 7 8 9 | 10 | 11 |Sp.| Sp. Satze Balle PI.
1 |Schopf, Leon VIR Wiesbaden 3:0 3013031 (31(23[30(32]|32]|9 8:1 26:9 359:296 1.
2 |Baebenroth, Finn TG Oberjosbach| 0:3 0:3|132(03[0:3[2:3]3:1[0:3|30]| 9 3:6 11:21 262:320 9.
3 |Rehm, Malte TV Wallau 2:3(1:3]2:3]3:0] 3:1 0 0:0 0:0 0:0 11.
4 |Timur, Niklas SG Anspach| 0:3 | 3:0 1:3123|10:3(3:2(32(32(31]9 5:4 18:19 353:344 5.
5 |Meindl, Tim TTC Konigstein| 0:3 | 2:3 3:1 2312323321330 9 3:6 18:21 363:380 7.
6 |Schuster, Paul TTC Konigstein| 1:3 | 3:0 | 3:2 | 3:2 | 3:2 0:3[1:3[03[31]30] 9 5:4 17:17 317:316 4.
7 |GoOske Toro, Tomas TTC Konigstein| 1:3 | 3:0 | 3:1 | 3:0 | 3:2 | 3:0 31132123 (132(9 7:2 24:13 360:316 2.
8 |Thielmann, Gerrit SGAnspach| 3:2 | 3:2 | 3:2 | 2.3 | 3:2 | 3:1 | 1:3 30|32 (30| 9 7:2 24:15 388:335 2
9 |Orgler, Moritz TTC GW Staffel| 0:3 | 1:3 | 0:3 | 2.3 | 2:3 | 3:0 | 2:3 | 0:3 311329 3:6 16:21 334:363 8.
10 |Fox, Marvin TV Bad Schwalbach| 2:3 | 3:0 | 1:3 | 2:3 | 3:1 | 1:3 | 3:2 | 2.3 | 1:3 30| 9 4:5 20:18 369:347 6.
11 |Koch, Sandor TSV Engenhahn| 2:3 | 0:3 1:3103(03(23|0:3|2:3]0:3 9 0:9 7:27 273:361 10.
1. Runde:
2 Baebenroth, Finn - Koch, Sandor 1:0 (3:0) +3,+6,+9)
3  Rehm, Malte - Fox, Marvin 1:0 (3:1) +10,+7,-9,+7)
4 Timur, Niklas - Orgler, Moritz 1:0 (3:2) +5,-9,+9,-8,+10)
5 Meindl, Tim - Thielmann, Gerrit 0:1(2:3) -10,-7,+7,+9,-4)
6  Schuster, Paul - Goske Toro, Tomas 0:1 (0:3) -9,-8,-10)
2. Runde:
1 Schopf, Leon - Koch, Sandor 1:0 (3:2) +7,-7,+8,-4,+7)
2 Baebenroth, Finn - Fox, Marvin 0:1 (0:3) -6,-6,-8)
3  Rehm, Malte - Orgler, Moritz 1:0 (3:0) +10,+8,+6)
4 Timur, Niklas - Thielmann, Gerrit 1:0 (3:2) -6,-7,+6,+9,+8)
5 Meindl, Tim - Goske Toro, Tomas 0:1 (2:3) +11,-7,-5,+9,-9)
3. Runde:
1 Schopf, Leon - Fox, Marvin 1:0 (3:2) +10,+10,-9,-4,+8
2 Baebenroth, Finn - Orgler, Moritz 1:0 (3:1) -8,+7,+6,+4)
3 Rehm, Malte - Thielmann, Gerrit 0:1 (2:3) -3,+9,+8,-9,-8)
4 Timur, Niklas - Goske Toro, Tomas 0:1(0:3) -7,-9,-9)
5 Meindl, Tim - Schuster, Paul 0:1(2:3) -11,+5,+8,-13,-6)
4. Runde:
1 Schopf, Leon - Orgler, Moritz 1:0 (3:0) +7,+6,+9)
2 Baebenroth, Finn - Thielmann, Gerrit 0:1 (2:3) -8,+8,+10,-4,-2)
3  Rehm, Malte - Goske Toro, Tomas 0:1 (1:3) -5,+8,-3,-10)
4 Timur, Niklas - Schuster, Paul 0:1 (2:3) -8,+8,-5,+5,-6)
6  Fox, Marvin - Koch, Sandor 1:0 (3:0) +9,+7,+6)
5. Runde:
1 Schopf, Leon - Thielmann, Gerrit 0:1(2:3) -13,-6,+12,+6,-8)
2 Baebenroth, Finn - Goske Toro, Tomas 0:1(0:3) -3,-5,-6)
3 Rehm, Malte - Schuster, Paul 0:1 (2:3) +9,-7,+9,-5,-7)
4 Timur, Niklas - Meindl, Tim 0:1 (1:3) +5,-5,-8,-5)
5  Orgler, Moritz - Koch, Sandor 1:0 (3:2) -9,+9,+5,-8,+12)
6. Runde:
1 Schopf, Leon - Goske Toro, Tomas 1:0 (3:1) -10,+8,+9,+4)
2 Baebenroth, Finn - Schuster, Paul 0:1 (0:3) -2,-7,-11)
3  Rehm, Malte - Meindl, Tim - (=)
5  Thielmann, Gerrit - Koch, Sandor 1:0 (3:0) +5,+6,+12)
6  Orgler, Moritz - Fox, Marvin 1:0 (3:1) +10,+8,-10,+8)
7. Runde:
1 Schopf, Leon - Schuster, Paul 1:0 (3:1) +6,+9,-6,+6)
2 Baebenroth, Finn - Meindl, Tim 1:0 (3:2) -10,+15,-9,+9,+9
3  Rehm, Malte - Timur, Niklas - (=)
4  GoOske Toro, Tomas - Koch, Sandor 1:0 (3:2) +7,-8,-9,+7,+8)
5  Thielmann, Gerrit - Fox, Marvin 1:0 (3:2) -3,+7,-7,+8,+7)



8. Runde:

Schopf, Leon
Baebenroth, Finn
Schuster, Paul
Goske Toro, Tomas
Thielmann, Gerrit
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9. Runde:
1 Schopf, Leon
2 Baebenroth, Finn
3 Meindl, Tim
4  Schuster, Paul
5  Goske Toro, Tomas

10. Runde:

Schopf, Leon
Timur, Niklas
Meindl, Tim
Schuster, Paul
Goske Toro, Tomas

[e20N¢; BE-NNGVREE

11. Runde:

Schopf, Leon
Rehm, Malte
Timur, Niklas
Meindl, Tim
Schuster, Paul
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- Koch, Sandor
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- Orgler, Moritz
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